Multiplication

Worksheet-1

A] Multiply:

(i) 47 and 62

(i1) 189 and 54

(iii) 324 and 107

(iv) 402 and 533

B]. Find the number which is:

(1) Twice of 1297

(i1) Thrice of 498

(i11) Double of 1557

C]. Choose the right answer:

1. When we multiply a number by 0, the answer is:
@a~o

(b) 100

(c) Number itself

2. When we multiply the numbers, the answer is known as:
(a) Addend

(b) Product

(c) Difference

3. When we multiply a number by 1, the answer is:

(@)0




(b) 100
(c) Number itself

4. Multiply 24879 by 386.

a) 9063294 b) 9630294
c) 9603294 d) None of these

5. + + +

a) 5 b) 29
c) 30 d) 39

6. 360 x 640 =

a) 36 x 640 b) 36 x 64 x 10
c) 36 x 64 x 100 d) None of these

D. Find the product of the following:
(i) 701 x 256

(ii) 345 x 678

(iii) 908 x 765

(iv) 327 x 401

(v) 442 x 123

(vi) 987 x 543

(vii) 222 x 444




